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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3 : R 797 % a7 &7 & [ qag ST %y g

Direction : Answer the following questions by selecting the most appropriate option.

1. F=fofeg § 9 f9-T1 dFeEs a|
gfraied dew & gE 7@ e ?

(1) =™ H +E|
(2) u¥E 1 e
(3) TR A1
(4) MBI @ E|

2. ‘HamHdh gE q= H gEvYH fHEA
g fha 7
(1) %wei® T &b
(2) B0 wd g
(3) S wd i
(4) R @ g

3. frfefag & & @9-w1 Surm TR
AT qh ® FIEX P (AT HX
STl ARFM Al & g BROT &
MY & SO X e © °

(1) FRfISATOTE® SUFH
(2) FIBERI IIFH
(3) JafRTH FPRIAHD IUTH
(4) 9ETH IUH
4. ‘JQ AR GUET H FAIEH fhEA
TR @ ?
(1) FE e
(2) 2o Tdo YUMHEES
(3) T=aS =@ i
(4) UEda

Level-2/8111

1.

Which of the following is not the
main law of learning as prescribed
by Thorndike ?

(1) Law of Exercise

(2) Law of Effect

(3) Law of Readiness

(4) Law of Generalization

Who first introduced the word

'Emotional Intelligence' ?
(1) Fredrick and Kirk
(2) Henry and Peter

(3) John and Cronback
(4) Mayer and Salovey

Which of the following approach is
based on analysing the behaviour of
disabled child and find out the root
cause of his/her learning deficiency ?
(1) Psychoanalytic approach

(2) Behavioural approach

(3) Individualized instructional

approach
(4) Multisensory approach

Who first introduced the concept of
"Latent Learning" ?

(1) Kurt Lewin

(2) E. L. Thorndike

(3) Edward Chace Tolman
(4) Pavlov

P.T.O.
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10.

‘TEEEE & T A B o 7
(1) faferEm s+

(2) Sto Hto arzE

(3) T &

(4) TEqe AT

frefefe & @ @9-@ e
TER® T IaTT & 7

(1) TR (2) q@

(3) T8 (4) g

g6 d X F BN g of®

uRadw, e @ - ofawer

g 3 oo & o E 7

(1) qd srearere

(2) UsT fpsmRraen

(3) TTERITEI

(4) 9T:EY B

%mmw AP H FF A
?

(1) ‘TE TR H AT

(2) M R Bl AT

(3) ‘TE-AN T A ST

4) ' TBR H I

“TRYAREAT S M BFar o e &

gm? TR J B9 oY T aar

(1) 63 11a9

(2) 1282099

(3) 38 6Ty

(4) 187E §3 a9

frfafed & @ #W-a1 e @

e s 7eff e ?

(1) |iad # e

(2) Jafre = & Rsr

(3) Vet 1 uHETdr @ s

(4) [Aldse 9 9MMg SfBRATel @
Harel F fosTa

Level-2/8111

[4]

10.

Who was the main propounder of
'functionalism' ?

(1) William James

(2) J. B. Watson

(3) Clark Hull

(4) Edward Tolman

Which of the following is example
of Innate Motive ?

(1) Award (2) Hunger

(3) Punishment (4) Incentives

In which stage of development, the
sexual changes that occur in the
child's body starts to appear ?

(1) Early childhood

(2) Later Adolescence

(3) Adulthood

(4) Puberty

What is the other name of classical

conditioning ?

(1) Type S conditioning

(2) Type R conditioning

(3) Type S-R conditioning

(4) Type U conditioning

What is age group given by Erikson

for the stage "industry vs

inferiority" ?

(1) 6to 11 years

(2) 12 to 20 years

(3) 3to 6 years

(4) 18 months to 3 years

Out of the following which is not

correct principle of 'Development' ?

(1) Principle of continuity

(2) Principle of individual difference

(3) Principle of uniformity of pattern

(4) Principle of proceeding from
specific to general responses



12.

13.

14.

. frefefeg & @ f-ar ‘omifeee @
are (eR) ‘<% 3| @Ol 3
9§ S ST 7

(1) HIBRAE

(2) gENER

(3) yEaE

(4) TReTCEaR
Frfifed & & B-a1 oD A
e P T FET 8 ¢

(1) GRS argar
(2) G qRuead
(3) STHIGLa™

(4) rgesiiaa

ded G PR gRE TOEe &
A 1 e foT SR T ?

(1) 8 ¥ 12 a¥ % AMY® AV a
Fradl & e

)4 8§ 8 q§ F AMGH AN a
Fradl & e

(3) 12 ¥ 15 ¥ % 9NES QAT a
Fraal & T

42 ¥ 4 7§ F qWGHE I A
Fraal & T

fr=ifoifeg & @ fN-a1 ‘TR @l
ik & fou @t s w9 © 7
(1) e > W@l - RUE —

OIRE]

(2) T — Jmte —» WRUE —
AT

(3) Tl — wRue — Wt —

Eelien]
4) T - ofaefe —» @™ —
BIECIED
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11.

12.

13.

14.

[A]

Which of the 'thoughts of school' in
Psychology is also called as 'Black
box theory' ?

(1) Behaviourism

(2) Structuralism

(3) Functionalism

(4) Gestaltism

Which of the following is not the
characteristic of Good Mental
Health ?

(1) Ability to adjust

(2) Emotional Maturity

(3) Self-confidence

(4) Intolerance

Scale I in Cattell Culture Free

Intelligence Test was prepared for
whom ?

(1) For 8 to 12 years
deficient person

mental

(2) For 4 to 8 years mental deficient
person

(3) For 12 to 15 years
deficient person

mental

(4) For 2 to 4 years mental deficient
person

Which of the following is the correct

logical order for 'process of creativity' ?

(1) Insight —  Preparation —
Incubation — Verification

(2) Preparation — Insight —
Incubation — Verification

(3) Preparation — Incubation —
Insight — Verification

(4) Preparation —  Insight —
Verification — Incubation

P.T.O.
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15.

16.

17.

18.

19.

TR ® HF-9 qrEm & e,
gﬁwaﬁaﬁwawﬁmw
?

(1) 3R® AfasT™

(2) TE A

(3) ofiifsa weifas™

(4) fopraTEs TR

fF O & AgER aWE B
e # UR&eqAel h HHIM @l

qar difhsd Rl & SMYR W foER
H B QI I HT AT 8 °

(1) 092 a9
(3) 69 11T9

(2) 296ay
@) 1191538
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15.

16.

17.

18.

19.

Which of the following terms is not
related with the operant conditioning ?
(1) Insight

(2) Reinforcement

(3) Spontaneous Recovery

(4) Extinction

Who introduces 'Learning Disable’
word very first for the children
suffered from various learning
problems ?

(1) Heward

(2) Samuel Kirk

(3) Van Riper

(4) Birch

Which of the following Psychologist
is not supporter of views about
"Psychology as a Science of Soul" ?
(1) Plato

(2) Aristotle

(3) Descartes

(4) Wundt

In which branch of Psychology there
is a scope of study of Telepathy,
Rebirth etc. ?

(1) Physiological Psychology

(2) Clinical Psychology

(3) Parapsychology

(4) Developmental Psychology
According to Jean Piaget in which
stage child is able to understand
Hypothesis and getting thinking
ability on the basis of logical
statement ?

(1) Oto2years (2) 2to 6 years
(3) 6to 11 years (4) 11 to 15 years



20.

21,

22,

23.

24.

fr=ifoifeg & @ f9-a1 Ffas 99g
% e, S, A, Toeieer g
T STEHIT BT B 7

(1) AMIQEE! AR
(2) GSHIHS AN
(3) STAMNY A
(4) St AN

frefofeg & § @9-w1 afka @
YT ey R 787 91 1§ ?

(1) g

(2) FHATHSD

(3) WD

(4) TRE

S fEe & ogaR e faws
HTE QI AT w Y
e 8 7

(1) 0¥ 599

(2) 13918 a9

(3) 5T 8Ty

(4) 11313 a9

freifofeg & & ®F-a1 ofrm orem
TRl T T FE T’ ?

(1) coefienTer JHIiaan
(2) Wik STRear
(3) THIRYT TN
(4) STERmEr

THR AR Hadl ard Sl Bl s
qfeer 7 Bt B 7

(1) 509 60

(2) 36951

(3) 209 35

(4) 209 -
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[7]

20.

21,

22,

23.

24.

[A]

Which of the following Psychology
studies about man's thinking,
memory, language, perception etc. ?

(1) Humanist Psychology
(2) Cognitive Psychology
(3) Abnormal Psychology
(4) Clinical Psychology

Which of the following is not the
type of personality given by
Kretschmer ?

(1) Athletic

(2) Aesthetic

(3) Asthenic

(4) Pyknic

What is the age group for the moral
development stage "Heteronomy
Reciprocity" given by Jean Piaget ?
(1) Oto 5 years

(2) 13 to 18 years

(3) 5to 8 years

(4) 11 to 13 years

Which of the following is not the
characteristic of Learning Disabled
Children ?

(1) Perceptual effectiveness

(2) Emotional instability

(3) Disorder of attention

(4) Impulsivity

What is the 1.Q. Range of severe
mental retarded child ?

(1) 50to 60

(2) 36to051

(3) 20to 35

(4) below 20

P.T.O.



[A]
25

26.

27.

28.

29.

30.

. o # @N-S smen ¥ gum
?ﬁrﬁ%ws&r/ﬁwmﬁéﬁ
?
() 281499 (2) 15918 aY
(3) 10" 1299 (4) 19721

frfafag & @ @9-w1 g
feraT 1 WPR FET R ?

(1) fErd o

(2) g ferec

(3) TS v

4) @A foma

frfofeg & & #9-91 #=QsS

;;rﬁaﬁﬁﬁr Tfes & guds T8
?

(1) »rFe 2) f=l

(3) ot (4) TR Hid

‘AR % Yads diF I ?

(1) faferm s+

(2) faferm O

(3) fawen goe

(4) IR B¢

=g & @ d9-a1 a STRmRen

o’ O Gefg 7R ?

(1) TETHA ~ (2) TG

(3) HaT (4) Jrcared

‘I H HAT fHE g9 UgR @ S
g B ?

(1) ferpser

(2) g

(3) SR

(4) g

[8]

25.

26.

27.

28.

29.

30.

In which stage of development,
interest/friendship develops towards
same sexual groups ?

(1) 12to 14 years (2) 15 to 18 years

(3) 10to 12 years (4) 19 to 21 years

Which of the following is not the
type of Realistic thinking ?

(1) Convergent thinking

(2) Creative thinking

(3) Evaluative thinking

(4) Autistic thinking

Out of the following which
psychologist was not supporter of
'Humanist Psychology' ?

(1) Freud (2) Maslow
(3) Rogers (4) Arthur Combs
Who was the propounder of

'structuralism' ?

(1) William James
(2) William West
(3) Wilhelm Wundt
(4) Wilhelm Hunt

Which of the following component
is not related with the 'Motivation
Cycle' ?

(1) Need
(3) Emotion

(2) Drive

(4) Incentive

The 'emotion of fear' associated with
which basic instinct ?

(1) Repulsion

(2) Pugnacity

(3) Appeal

(4) Escape

Level-2/8111



[A]

AW - I/ PART - I
A7 (5=} wd i) / LANGUAGES (HINDI & ENGLISH)
[ &Y/ HINDI ]
e : =& 7971 % G 37 % [ qaq SfEd ey g
31. %9 a7 | deugEs AT H TAN 35. 77 w9 fawe g -
g ? (1) R B R asi = geas
(1) T ST Al 2 (2) T & A = g
(2) AR T | AT A B (3) T & R ST = GRS
(3) T TG 4 =W @ (4) T & R qUSY = FwEvey
(4) Hies STTehe SoTET Sadl 2
36. TeTg BRAT 78T ©
32. ‘% W YR UE TE © (1) s
(1) fourgs R
@ ¥ (3) oA
) Fre= (4) TIferrT
(4) ST
33. P e & Pt et e 2 7 37 T g 8 g
(1) G (1) s, _Ebﬁ_ig
2)a, % -
o K.
(3) WX
@ B 4) 3, g - gt
s 38. o9 faeheq § ‘o1 SUERT &1 YGNT 78T

e R @ e @ gy faeed
gﬁﬂ'\f:

(1) ARt = A1 &% Qi

(2) MR = T (af) & dR

(3) giwae™ = gl & Y 519

(4) Siigear = Sl ) 41

Level-2/8111

g ® 7

(1) sTgEr
(2) ST
(3) IR
(4) Sgamte

P.T.O.



[A] [10]

39. ARii 3 § o7ger IE YT ¢ 43. i foeBT @ e q org7T gT ¢
(1) feR9= (1) B + 35 = Firg
(2) FASTHREST 2) gft + 3= = gi=
(3) et (3) AR + 3= = apefie
(4) Toumat (4) T+ 30 = WHIA
40. AMLEFATEH FAAH e AR GO 44. ‘TEA WRA & U AW 817
() ¥ 45 g& @ & 3= g @ A 5 g B ®
Il (1) IRomedes foparm
(2) ¥ § B FA B (2) wigH e
(3) @A el TR Ul BT Hebell (3) % B
g
! (4) foramdes ©sm
(4) 98 =med & % A Haa o TBN
45. TOT B 9 o7 e :
41, g IuHI-IRT wE g = ™
i (1) 8F + 3Nl = el
(D
(2) Y + b = A
(2) @& o .
(3) 99 + Sfdr = qarar
(3) &9 . .
(4) 9T + TG = HIE
(4) Greq
42. T8 w5 # @S @iy B g el
g7
(1) arfisax
(2) e
(3) STt
(4) goitqET
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46.

47.

48.

[11] [A]
[ S135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of the sentence 50. Choose the correct tense form :
which is incorrect : _
His newfilm is really worth Nanny died last wegk. She .........
a b o from cancer for some time. (suffer)
to be seen. (1) suffering
d
(1) a @) b (2) is suffering
(3) ¢ “4) d (3) had been suffering
Select the appropriate modal for the (4) suffers
expression given :
When ... we expect you ? 51. Select the appropriate modal for the
(possibility) expression given :
(1) may (2) will If you do that again you ........ be
(3) have to (4) dare punished. (threat)
Select the correct option (phrasal (1) may
verb) for the underlined word : (2) shall
Most of the patients respect Dr. John
. (3) can
for his kindness.
(1) payback  (2) zest for (4) ought
(3) make over  (4) look up to 52. Choose the correct option for the

49.

Choose the correct meaning of the
underlined words :

The baby monkeys ran every which
way.

(1) up
(2) straight
(3) in different directions

(4) down

Level-2/8111

following :

An  instrument for

earthquakes 1s :

detecting

(1) A Fathometer
(2) Lithoscope

(3) A Seismograph
(4) Cardiograph

P.T.O.
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53.

54.

55.

56.

Choose the correct meaning of the
underlined words :

It's a pity you don’t like football. But
each to their own.

(1) everyone has different opinions
(2) everyone has similar opinions
(3) each and all are same

(4) each one likes football

Choose the correct option to fill the
blank :

Immediately after the operation he
could see nothing vague
shadows.

(1) aslong as

(2) however

(3) but

(4) notwithstanding

Select the correct option (phrasal
verb) for the underlined word :

I don't know how we are going to
cope with the cold during winters.

(1) make up for

(2) put up with

(3) put down

(4) setup

Select appropriate preposition to fill
in the blank :

They walked the footpath
until they came to a bridge.

(1) into

(2) since

(3) along (4) in

[12]

57.

58.

59.

60.

Choose the correct tense form :

My car ........ for the third time since
I got it. (break down)

(1) break down
(2) has broken down
(3) was broke down

(4) has broken

Choose the part of the sentence
which is incorrect :

James is busy to prepare
a b C
tonight's dinner.
d
(1) a 2) b
3) ¢ 4) d

Choose the correct option to fill the
blank :

The room was empty ....... for a chair
in the corner.

(1) except
(2) and
(3) between

(4) behind

Select appropriate preposition to fill
in the blank :

The programme was broadcasted ......
the world.

(1) in
(3) onto

(2) off
(4) across

Level-2/8111
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[A]

HET -1/ PART -1l
qH 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

Ui aAfk™l P, Q, R, S X TH, T, R

M S & Bler 81 Q, T Rigww aw=

T&?f%mi?bﬂ Ffed § T 81 R
e § BleT 81 IFH A HF q9d

w%?

(DR 2) Q

3) S 4) P

dF demt 203 : 4 F oguE | B

gﬂ%aﬁaﬁrqﬁ%%m‘r @ g

(1) 14,21, 28
(3) 8,12, 16

2) 12, 18,24
4) 4,6,8

A, X & U E B, Y 3 9@ 81 X
M Z H 79 Y 8 = & |
%ﬁ:?r—waswmawwﬁw:@?
(1) B, Z & =@l 2
(2) X, Z® 91 2
(3) B, A®I T 2
4) Y, A® IF B

AR @ H A 1 R T e,
i a8 aRer Qe § geet 5 fl
Ior &1 Y a8 qd Rem § gt 2
Rl o 8, SE& 918 a8 JaX fasm
I geat 9 fdl s@ar 231 o a8
gRfE g @ e g @St © °
(1) 4 fpr (2) 5 fepelt

(3) 7 feprt (4) 9 fert
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61.

62.

63.

64.

Among five persons P, Q, R, S and
T, T is shorter than R and S. Q is not
as tall as T but taller than one
person. R is shorter than one person.
Who among them is the tallest ?

(1) R 2) Q

(3 S 4) P

Three numbers are in the ratio 2 : 3 : 4.

The sum of their cubes is 33957,
then the numbers are :

(1) 14,21,28 (2) 12, 18,24
(3) 8,12,16  (4) 4,6,8

A 1is father of X; B is mother of Y.
The sister of X and Z is Y. Which of
the following statement is
necessarily not true ?

(1) B is the mother of Z.
(2) X is the sister of Z.
(3) B is the wife of A.
(4) Y is the son of A.

A person walks 1 km towards East
and then he turns to South and walks
Skm. Again he turns to East and
walks 2 km, after this he turns to
North and walks 9 km. Now, how far
is he from his starting point ?

(1) 4km (2) Skm
(3) 7km (4) 9km

P.T.O.
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65.

66.

67.

68.

69.

i e A O R 1 ) L

DHL, PTX, BFJ, .....
(I) CGK (2) KOS
(3) NRV 4) OVZ

12 969 Th ®E & T & F 18
R aa ¥ wafs 12 Raat ot a9 3

%maﬁm&qﬁrﬁmﬁﬁr

Fd H 10 gey o 8 Rear wre-wn
F FXI g fhe R 7 qor  ?

1

1) 6 @ 7
1

13— 4) 14
3) 32 4)
Teh Tl &l Bedl & gl B W 36
MG | fobaq ufcierd gfes &Rl ?
(1) 200% (2) 450%
3) 550% (4) 700%

T AR TF a8 B % 24 F FAO ©
T IE] & Td B SO S A9
FHAC &, A 9% B AE I ©

(1) %15 ) 217

(3) %18 4) 20

15 fkE & T g8 H, 7 R
Ted &, 8 SISl Ued ¢ oMK 3 &S A
W TE ed 8 fem el R
AR AT AT Ted § 7

(1) 0 2) 3

(3) 4 45
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[14]

65.

66.

67.

68.

69.

Find the next term of the following
letter series :

DHL, PTX, BFJ, .....
(1) CGK (2) KOS
(3) NRV 4) OVZ

12 men take 18 days to complete a
job whereas 12 women in 18 days

can complete % part of the same job.

How many days will 10 men and 8
women together take to complete the
same job ?

1

(1) 6 (2) 75

1
ORER

4) 14

The radius of a sphere is doubled.
What percent of its volume is
increased ?

(1) 200%
(3) 550%

(2) 450%
4) 700%

A dealer sells an article for ¥ 24 and
gains as much percent as the price of
the article, then the cost price of the
article is :
(1) % 15
3) %18

2) %17
4) 320
In a group of 15 people, 7 read
Hindi, 8 read English and 3 read

none of these language. How many
people read Hindi and English both ?

(1) 0 2) 3
(3) 4 “4) 5



70.

71.

72.

73.

74.

R p T ¢ IRAT AW T g
?“ﬁ ptgds, @ p T g B
e g

() p=24=2@ p=tig=2
®) p=ti=3 @) p=tia=

A% uh FMiREd T # 3% Fay @
" #@ A I H@ THIE AN
101,50 &, @ S AN H G
g & foT aXa &7 fobaem & ?

(1) T50 (2) T 100
(3) T 125 (4) T 147

et @ ot § g@ e S BT
A, CD, GHL 7, UVWXY

(1) LMNO (2) MNO

(3) MNOP (4) NOPQ

Th TGS B Th BT 108° qUT AT
A BT IUEX 31 AN SEY Hin J
T H HM 3T B -

(1) 63° (2) 74°

(3) 84° (4) 96°

GTWH,WQT%WET%@TW
% S A B T, g B q@ @
R B TH, aﬁa%wﬁ@f
Rem & 3 7

(1) Iax-qieaH
(2) e

(3) aRr-gd
(4) I

Level-2/8111
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70.

71.

72.

73.

74.

[A]
If p and ¢ are rational numbers and
3445
3-45

and q are :

=p+q\/§, then value of p

=2 p=

(1) p= 5

g =

3) p= (4) P=7:9=

l\.)I\] \IIN

NI\] [\CNIEN|
N 9o

If the compound interest on a certain
sum for two years at 3% p.a. be
% 101.50, then what would be the
simple interest on the same sum for
same period ?

(1) 50
(3) X 125

(2) T 100
(4) T 147

Find the missing term of the
following letter series :

A, CD, GHL, ?, UVWXY
(1) LMNO (2) MNO
(3) MNOP (4) NOPQ

One angle of a quadrilateral is 108°
and the remaining three angles are
equal. Find each of the three equal
angles :

(1) 63°
(3) 84°

(2) 74°
(4) 96°

Amit is west to Prakash and North to
Sumit. Tarun is in East of Sumit.
Tarun is in which direction with
reference to Amit ?

(1) North-West
(2) South
(3) South-East
(4) North

P.T.O.



[A]
75

76.

77.

78.

79.

80.

. Ji& DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, @ CAR =?
(1) 3 (2) 6
(3) 8 4) 16
=T 9o & 77 He S i
69, 55, 26, 13, 5
(1) 5 (2) 13
(3) 26 4) 55
Iy =4 =§ G|

1 1 1
—t—t—=4, W x WA
2x 4y 4z
7 7
1) — 2) —
(D T (2) 17
7 7
3) — 4) —
(3) T 4) >3

80 f5Hl BN # UH @Sl YEH 60
fpet, 40 fobr ofey ger qer 9w g 20
feft i der &t i | I 51 wR e
=T H Sl 9 R

(1) 24 FRHT Ui geT (2) 30 fBHT Ui et
(3) 32 Tt Ui geT (4) 36 hH Ui get

30 Hi & GO & Uh Y Q) 90
H TS 0.80 H 9 g R W
24 H B TR B TEE B AR

TR FI TRDE B §HT 8 -
(1) 48 % 2) 728
(3) 156 17 4) 1921

& U # oo 9 B8R & 169
WM W T 3 [9HE T8 8 9
183 ®N W B MU ofvw §
A 113 wH W R foww
T B # X e W W R
et & fere At @S g @ !
(1) 41 (2) 42

(3) 48 (4) 49

q
e
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75.

76.

77.

78.

79.

80.

If DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, then CAR = ?
(1) 3 (2) 6
3) 8 4) 16

Find the wrong number in the
following series :

69, 55, 26, 13, 5
(1) 5 (2) 13
(3) 26 4) 55
If 2'=4"=8 and i+i+i=4,
2x 4y 4z
then the value of x is :
7 7
1) — 2) —
(D T 2) 7
7 7
3) — 4) —
3) T “4) >3

In a journey of 80 kms a train covers the

first 60 kms at 40 km/hr. and the
remaining distance at 20 km/hr. The
average speed for the whole journey is :

(1) 24 km/hr.  (2) 30 km/hr.
(3) 32 km/hr.  (4) 36 km/hr.

A swimming pool, 30 m long has a
depth of water 0.80 m at one end and
2.4 m at the other end. The area of
the vertical cross-section of the pool
along thezlength is: )
(1) 48m ) (2) 2m )
(3) 156 m 4) 192 m

Anil is standing at 16th position
from the left end in a row. Vikas is at
18th position from the right end.
Gopal is 11th from Anil towards the
right and 3rd from Vikas towards the
right end. How many persons are
standing in this row ?

(1) 41 (2) 42

(3) 48 4) 49



81.

82.

83.

84.

85.

fifiRaq & ¥ 8®e (HAFED) %
TR § B9 @R ?

(i) 98 P IURN H T8 BT 3
(i) 98 P IURN H TUOF HIT ol
(iii) T8 B SAEM H Gl B ol
7&7 F< H TI BT

(1) () AR (i)

(2) & (i)

(3) (@) 3R (iii)

4) (), (i) 3R (iii)

e § #El TR-aw faeiia fE
ST TR ?

(1) g (2) HreT

(3) TGTR (4) &9t

‘TR e Gl LHAC BRI &
fhg et d i T R 7

(1) BER (2) HE

(3) &dh (4) STl

‘TR TR STEEH!’ & T ®

(1) Sfo FIE Fad

(2) &t 7Y A

(3) Sfo HMEb T

(4) =t O AR

el omEe % SR # fAithd el

W @R i -

(1) aRamT & ga e B onE
gﬂ?ﬁ?{ ag | § wEga qls]
|

(3) 7& g= @@ A=A A< HE A
Teell Afea 2

&l IR YA

(1) %o (o7) @& B

(2) %I (9) T 2

(3) (81) AR (9) 3! T &

(4) (31) &R (39) 3 &
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81.

82.

83.

84.

85.

[A]
Which of the following are true
about the functions of HAFED ?
(1) It procures agriculture products.
(i1) It markets agriculture products.
(ii1) It supplies agriculture inputs.
Choose the correct code :
(1) (1) and (ii)
(2) only (i)
(3) (i) and (iii)
(4) (1), (1) and (iii)
Where in Haryana 'City-forest' is
being developed ?
(1) Murthal (2) Sohna
(3) Yamunanagar (4) Hansi

'Air Shuttle Service' has been started
from which city of Haryana ?

(1) Hisar (2) Karnal

(3) Rohtak (4) Ambala

The President of 'Haryana Sahitya
Academy' is :

(1) Dr. Kumud Bansal

(2) Sh. Manohar Lal

(3) Dr. Ashok Batra

(4) Sh. Rana Oberoi

Consider the following statements

about Minty Agarwal :

(a) Minty Agarwal, a native of
Haryana, is a Squadron Leader
in Indian Air Force.

(b) She is the first woman, who
received Yudha Seva Medal.

Choose the correct answer :
(1) Statement (a) is true

(2) Statement (b) is true

(3) Both (a) and (b) are false
(4) Both (a) and (b) are true

P.T.O.



[A]

86

87.

88.

89.

90.

: AT ST AT JieX AT
(1) siig # (2) ST H
(3) gHYT § (4) FoEA |
S 2020 H, oIfoReq # W/

HI-G TRUMGH B TR IRE &
WY X HHG A 4 7

(1) T (2) TN

(3) T (4) o

1857 & fa5ie & 99T FooK H A
I o1 ?

(1) STgea &t

(2) a1 SEYE

(3) TEHEA

(4) foara sl

HAMH & AU ARG B G
WM FaRYd ©

(1) oT<re fofet o

(2) IR it |
(3) HHae ol H
(4) o fo 7

G N § §8d aml ARdl @
RECIEEEE

(i) SfgEfd (i) e

(iii) FHEE (iv) 3=

7&7 F< H =TI BT

(1) (i) 3 (i)

(2) (i) 3 (iid)

(3) (@), (iii) 3 (iv)

@) (), (ii), (iii) 3 (iv)

[18]

86.

87.

88.

89.

90.

Ancient Bhawani Amba Mata temple
1s situated in :

(1) Jind
(3) Sonipat

(2) Ambala
(4) Kurukshetra

In January 2020, which of the
following Nagar Palika was raised to

the status of Nagar Parishad
(Municipal Council) ?

(1) Rania (2) Jhajjar

(3) Beri (4) Sirsi

Who was the Nawab of Jhajjar
during the uprising of 1857 ?

(1) Abd-ur Rahman Khan
(2) Nawab Shamsuddin
(3) Sadruddin

(4) Bisarat Ali

The original founding place of
Topara Inscription of Ashoka is
located in :

(1) Ambala district

(2) Yamunanagar district
(3) Kurukshetra district
(4) Kaithal district

Identify the rivers, which flows from
Mahendragarh district :

(1) Ambumati (i1) Dohan
(ii1) Kasavati (iv) Indori
Choose the correct code :
(1) (i) and (iii)

(2) (i) and (ii1)

(3) (1), (iii) and (iv)

4) (1), (i1), (ii1) and (iv)

Level-2/8111
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[A]

AT - IV / PART - IV

4S9 / SCIENCE

3% : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

Uh TSAEqH § ‘o heschld faei
wﬁaww%w

() g™ (2) ™
(3) oI 4) g
ferifafad Aifes & [UPAC 99 ®

CH3 = C~CHy = CHy = CHy - C-OH

0 0
(1) 6-FEEd ga-2-319

(2) 5-3ifel eHamIs® of

(3) Sgfeel AR B

(4) 1, 5-3EHE 2R

%DNAwawrﬁﬁerﬁzﬁqawm
(15%%&&%&%
(2) @I afifar &
(3) Ffewr e &
(4) T i @

g & Sl 7 TP Uh 9 I ©
(1) gofier fa=irer

(2) dfrerea gRTrr

(3) TETMETH Flerdlerz

(4) g7 TFIeHRT

i § & fhas Sgaseer |
ﬁﬁﬁﬁﬁa%m ST ® 7

(1) 2-FR-1,3-FERREA

(2) 2-Hf-1,3-FeeRA

3) 1, 3-ERRA

(4) THEAERE

Level-2/8111

91.

92.

93.

94.

95.

In an angiosperm the 'free nuclear
division' takes place during the
formation of which of the following ?
(1) Gametes (2) Flower
(3) Endosperm (4) Embryo

The IUPAC name of following

compound is :

CHy == CHy = CHy = CH, —C—OH
0] (0]

(1) 6-carboxy hexan-2-one

(2) 5-oxohexanoic acid

(3) Butyl methyl ketone

(4) 1, 5-diketohexanol

Taxonomic studies based on DNA
are part of :

(1) Karyo taxonomy

(2) Chemo taxonomy

(3) Cyto taxonomy

(4) Alpha taxonomy

A biofertilizer used in paddy fields is :
(1) Azolla pinnata

(2) Bacillus thuringiensis

(3) Rhizobium meliloti

(4) Thermus aquaticus

Neoprene is prepared by polymerization
of which of the following ?

(1) 2-chloro-1,3-butadiene

(2) 2-methyl-1,3-butadiene

(3) 1, 3-butadiene

(4) Acrylonitrile

P.T.O.



[A]

96.

97

98.

99.

100.

101.

T% ey frEe siMiesy AABBCC g,
4 9 YR &% T e g9 ?

(2) IR
@ T

. [ gemE T @ TR ST
Bl &, g% s o o okan ® ¢

(D) Wadd & (2) gao &
3) AT ¥ (4) faae 4@

N,(g)+3H,(g)
AH = — ve 31f¥fhar 3 fog -

2NH5(g)

N
~

(1) K,=K.(RT)™

2) K,=K,

(3) K,=K.RT

4) K,=K.(RT)™

gt feel ofutemr @1 v Reri®

k=3x10*Lmol ls™! 8, a9 sl
Hife B :

(1) 0 2) 1

(3) 2 “4) 3

frefefeg & @ a9-@ Rie @)
FHEHE 3TTEh B 7

(1) KF <= (2) HAHRA

(3) RiwEe (4) ThaEe

FEAITH 3BT B @Sl H o

(1) Jae &9
(2) e gh A

(3) I STa A
(4) U« @ =
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96.

97.

98.

99.

100.

101.

How many different kinds of gametes
will be produced by a plant having
the genotype AABbCC ?

(1) Three (2) Four
(3) Nine (4) Two
Electromagnetic waves are

transverse in nature is evident by :
(1) Reflection (2) Polarization
(3) Interference (4) Diffraction
Ny(g)+
3H,(g)==2NH;(g)AH =—ve:

For the reaction

-2
(1) K,=K.(RT)
2) K p = K.
3) K p = K .RT
4) K,=K.(RT)™
If the rate constant for some reaction
is k=3 x107°L mol_ls_l, then its
order s :

(1) 0
3) 2

2) 1
“4) 3

Which of the following is carbonate
ore of zinc ?

(1) Zinc blende (2) Calamine

(3) Zincite (4) Sphalerite

The structural and functional unit of
life, the cell, was discovered by :

(1) Robert Koch
(2) Robert Hook
(3) Charles Darwin
(4) Robert Boyle



102.

103.

104.

105.

106.

Frefafad @-a1 o] &Ee & o
T 9 T sp3, spz, spz, sp HHTT
H FH TR HAT 8 7

(1) CH=C-C=CH

(2) CHy=CH-C=CH

(3) CHy;—-CH =CH - CH;4

4) CH;-CH =CH -CN

FrfaRad & | 9 foeres @ & |
el (e et § 7

() ffefm K (2) faef= E
(3) foef® By, (4) faeif™ B
frfofag § @ #9-@1 TRU W@
o= ® ?

(1) 919

(2) 3

(3) T,

4) FI9 99 ()

Frefoied & & &8 o] & fagE
et I © 7

(1) NF; (2) NH,

(3) BF, 4) ccl,

=1 # 9 IF-avaN-8 oy 2R ?

(A) PRSI q@@d b o Ao
GIE Hd 2

(B) e & %7 &PERCp & 21 &l

(C) T ufeey], Herweiefs (Heprden)
s q B

(D) ¥r7 WgRE, IR A aE

w%mﬁ%

(1) A,Bq%mc’

(2) A,BTH D

3) AT D

(4) Atdq B
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102.

103.

104.

105.

106.

[A]

Which of the following molecules
represent the type of hybridization

sp3, spz, spz, sp from left to right
atoms ?

(1) CH=C-C=CH

(2) CHy=CH-C=CH

(3) CHy;—-CH =CH - CH;4

(4) CH;—-CH =CH -CN

Deficiency of which of the following
Vitamins causes pernicious anaemia ?
(1) Vitamin K (2) Vitamin E

(3) Vitamin B;, (4) Vitamin B¢

Which of the following plant is a
dicot ?

(1) Bamboo

(2) Banana

(3) Wheat

(4) Congress Grass (Parthenium)

Which of the following molecule has
highest dipole moment ?

(1) NF; (2) NH;

(3) BF; 4) ccly

Which one of the following is/are

false ?

(A) Fibroblasts store food in adipose
tissue.

(B) Nissl's granules are found in the
granulocytes.

(C) Blood platelets are formed from
Macrophages.

(D) Serum globulin acts
antibody.

Select the correct option :

(1) A,Band C

(2) A,Band D

(3) Aand D

(4) Aand B

as an

P.T.O.



[A]

107.

108.

109.

110.

111.

112.

113.

T WA W A W SE
Il S B 43 T ¥ TR
T&TOT 9T HT T 9T BT 7

(1) 45°
(3) 30°

A A T FRA g FOT H A
Rafd & 3 &flo 3 g W @&
12 Ao/ABTE B THH oA @
BT

(2) 60°
(4) 90°

(1) 6.28 ¥H"E  (2) 3.14 Y&TE

(3) 2 qFTs 4) 5 9HE
?

(1) Toig e T T

(2) Fiee A

(3) FEIRT T &AW

(4) S IET U 3T

FARTHT 2 B
(1) ok (2) o &
(3) Fa% H (4) TAEECH H

Freifafad & @ aF-a1 998 doi4
9ol H M d godseeel & fe
T frdslaye & ?

(1) — CHO (2) —NH,

(3) — OH (4) —OCH,

ST & 7 | 4 g & & Sfi
§a Mgl e () w3

e e
(2) BT

(1) HERm
(3) 30T (FT) (4) Q=T

o § G U Uy 9 ®
(1) st (2) o
(3) qfmEr (4) &
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107.

108.

109.

110.

111.

112.

113.

The horizontal range of a projectile
is 443 times of its maximum
height. What will be the value of its
projection angle ?

(1) 45° (2) 60°
(3) 30° 4) 90°
The acceleration of a particle

performing simple harmonic motion
is 12 cm/s® at a distance of 3 cm
from the equilibrium position. Its time
period will be :

(1) 6.28 second (2) 3.14 second
(3) 2 second (4) 5 second

One horned Rhinoceros is conserved
species at :

(1) Rajiv Gandhi National Park

(2) Corbett Park

(3) Kaziranga National Park

(4) Anashi National Park

Chlorophyll is absent in :
(1) Lichen (2) Algae
(3) Fungi (4) Bryophytes

Which of the following group is
meta directing group for incoming
eletrophile in benzene ring ?

(1) —CHO (2) —NH,

(3) —OH (4) —OCH;,

Which of the following class of
Arthropoda have animals with two
pairs of antennae and green glands ?
(1) Crustacea  (2) Chilopoda
(3) Insecta (4) Arachnida

Food storing plant part in onion is :
(1) Root (2) Stem
(3) Leaves (4) Fruit



114.

115.

116.

117.

AR BT

(1) TFET7 % &

(2) 9T QT FEY B &N
(3) FHIRT WY & &

(4) feu] & &

fr1 & @ BN-T FF AR ®

TRl 7@ B ?

(1) |Ecrh¥-c, ETS # THAE URH"
E

(2) GfFme feeEgivm, b % &
ERSIRGIE RS E ]

(3) ATP a=esT &1 ATP & G9uT

UROEAHIvEA SR Hl AR
BT B

(4) *EHE § & ATP & =
SIEEGS I

e AT ® A H BT & U
SURe &, @ B § | AU
2nTr ?

(1) T oife et 2

(2) 931 A el B

(3) g fHior &t &

4) Fffa g @ wEn way sk A
gt & & B qRade e

%8 5 AERN e Bam ® =
& I SIAT-HI & Sl 81 I8 SR
YT B

(1) &1 @ SuRefa

(2) Pl Bl SRR
(3) SIfed WAl & SuRafa
(4) W H IuRRT
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114.

115.

116.

117.

[A]

Malaria is caused by :

(1) Plasmodium

(2) Female Anopheles mosquito
(3) Culex mosquito

(4) Virus

Which of the following statements

about mitochondria is not correct ?

(1) Cytochrome-c is the
peripheral member of ETS.

only

(2) Succinate dehydrogenase is the
membrane bound enzyme of
Krebs cycle.

(3) ATP is synthesized towards
perimitochondrial space side by
ATP synthetase.

(4) Net gain of ATP is two in
glycolysis.

If Henle's loops were absent from
mammalian nephron, which of the
following is to be expected ?
(1) The urine be
concentrated

will more
(2) The urine will be more diluted
(3) There will be no urine formation

(4) There will be hardly any change,
in the quantity or quality of urine
formed

The rice water turns blue-black on
addition of a few drops of iodine
solution. This indicates the presence of :

(1) Fats

(2) Cholesterol

(3) Complex proteins
(4) Starch

P.T.O.



[A]

118.

119.

120.

121.

122.

T THEY P HIAH H Foiig 90T 7,
ITH

(1) TR

(2) H=H

(3) HITAHT

(4) IfAHT AT

600 Hz Mg 1 Th @i Bl Il
g @ B @M & ger § 3T 1500
m/s T BT ¥ 300 m/s 81 UH e

BRI a1 ° U e @ g
(1) 3000Hz  (2) 1500 Hz
(3) 600 Hz (4) 120 Hz

EEE COIIC ) e | GG e
e ¥

(1) SErem el

(2) @il gl

(3) SAEIRE gt

(4) FHABR

TF O qldh & fhal I8 U STEd
BT 5 YHTS qAT IA TR 5 HieX
Bl HH TR fhael BT & ST H
g8 30 9% H 20 AT HA T
WY ?
(1) 1 dio
(3) 0.45 Hio

(2) 0.90 Ho

(4) 2 Hio
Freicied 68 ™ ® g Hiic
T § 7

(1) N,, Cl,

2 05", F,

(3) NO*,CO

4) 0,, N,
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118.

119.

120.

121.

122.

The non living part of a tomato cell
1s its :

(1) Chloroplast

(2) Nucleus

(3) Cell membrane

(4) Cell wall

A source of sound of frequency
600 Hz is placed inside water. The
speed of sound in water is 1500 m/s
and in air it is 300 m/s. The
frequency of sound recorded by an
observer in air is :

(1) 3000 Hz
(3) 600 Hz

(2) 1500 Hz
(4) 120 Hz

Negative  geotropic  roots  of
mangrove plants are :

(1) Coralloid roots

(2) Assimilatory roots

(3) Hygroscopic roots

(4) Pneumatophores

The time period of a simple
pendulum on a planet is 5 seconds
and the effective length is 5 meters.
How long should it be made to make
20 oscillation in 30 seconds ?

(1) Im (2) 0.90 m

(3) 0.45 m 4) 2m

Which of the following pair has
same bond order ?

(1) N,, Cl,

2 07" F,

(3) NO™, CO

4) O,, N,



123.

124.

125.

126.

127.

z = 120 a1 T H WE STEd qRel
% fha e & &1 =Ry ?

(1) %FﬁFFTEIﬁEH'{W
(2) 8T HaT 1T

(3) Iepe T
(4) &R o1g

T AR Bl FeRigehar MHT Bt ®

(1) a6 d] B TR 9T

(2) ¥R TR & SIS T & e
W

(3) IH TR & W@H H THA T
AP AR & AHN W

(4) Bad TP AR B AHH W

RNH, + CHCI; + KOH —2—7

ST Afhar & IR ®
(1) RCI (2) ROH
(3) RCN (4) RNC

fr=ifofeg & @ PH-91 FHma TEENS
g9 FHeL H G G T8 o

(1) i MEge
(2) Os

(3) TEigs SFdEs
(4) CFC's

gmmaﬁTﬁtmmgﬁqdamﬁ
(1) f =o0,m =00
Q) f=w,m=1
3) f=0,m=1
) f=0,m=0
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123.

124,

125.

126.

127.

[A]

The element z = 120 would be
placed in which family of periodic
table :

(1) Halogen family

(2) Alkaline earth metals

(3) Noble gas

(4) Alkali metals

The resistivity of the conductor wire
depends on :

(1) Length of conductor wire

(2) Cross section area of conductor
wire

(3) Nature of material of conductor
wire and temperature  of
conductor wire

(4) Only temperature of conductor
wire

RNH, + CHCl; + KOH —2—7

The product of above reaction is :
(1) RCI (2) ROH
(3) RCN (4) RNC

Which of the following is not a
common component of photo-
chemical smog ?

(1) Peroxyacetyl nitrate

(2) 05

(3) Nitric oxide

(4) CFC's

The focal length and magnification
of a plane mirror are :

(1) f =oo,m=co

(2) f=oco,m=1

3) f=0,m=1

4 f=0,m=0

P.T.O.



[A]

128.

129.

130.

131.

132.

(1) 6400 o (2) 3200 fFio
(3) 2650 fFfo (4) 1600 fEio

8 lo wiwd Tl
i wd gl
¥ w3 9 FeE @ e gl
a1 Br ?

(1) + 1034
(3) + 80 A

(2) — 40 I
(4) +40 3

ST ShIST o1 i Tle YX AYfrd Biar

g, @ @b TRe-Edded @l

S1frepaw Tt FHett MR et ®©

(1) ST9fT JepIST & o 9

(2) U eI 1 aierar 9%

(3) AT SEhIST bl AT T

(4) T8 gHY AT s [T oy ®
epIyT STafad &t ®

e @ R odEwe & | oA
Ry &, 98 ®

(1) STaq (2) S

(3) GarT (4) Seft

a FHU B AT STARY TFRE B AR
frfofeg & @ #9-d@ Ty sl
Tferg &t B 7

(1) 7 St

(2) FifE ot

(3) @I gan

(4) I ST ot T G FaT
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128.

129.

130.

131.

132.

How far below the Earth's level will the
value of gravitational acceleration be
half of the gravitational acceleration
on the Earth's surface ? (Radius of
Earth 6400 km)
(1) 6400 km

(3) 2650 km

(2) 3200 km
(4) 1600 km

A convex lens of focal length 8 cm is
kept in contact with a concave lens
of focal length 10 cm. What will be
the focal length of this combination ?

(I) + 10 cm (2) —40 cm
3) +80cm 4) +40 cm

When light is incident an metallic
surface, the maximum kinetic energy
of emitted photo-electron depends on :

(1) Velocity of incident light
(2) Intensity of incident light
(3) Frequency of incident light

(4) The time interval for which light
is incident on metal

Lenz law is consequence of the law
of conservation of :

(1) Charge (2) Mass

(3) Momentum (4) Energy

During inelastic collision between
two bodies, which of the following
quantities always remain conserved ?

(1) Kinetic Energy
(2) Mechanical Energy
(3) Linear Momentum

(4) Both Kinetic energy and Linear
Momentum



133.

134.

135.

136.

137.

5 [Co(NH;)ICl, & fomaw #
fhde QTR I B 7
1) 9 2) 8
3) 3 “4) 2
% AR o 4% e, 24% HEd
M 71% FMAT Bl HHE HiK

SFHM 99 g 31 SEH MoaH G 8

(1) CH,CI
(3) CyH,Cl,

(2) C,H,Cl,

(4) CH,Cl,
& BT A Q&1 B (k, =2kp) &
TN M W N IR &
MG & dfer T B AR’ A
GRIT S ES, AT BHE:
(1) 4E () 2E

ERET

e
g

E
3) E (4)2

150 o9 @ fhhe & 12 Hio/Fo &
T a 3H T 9
/Go & AT q a9
g gt T 9 I H T
eafy 0.01 YFUS 8, @ A H AT

(1) 4.8 N-S
(3) 1.2N-S

(2) 7.4 N-S

(4) 4.7N-S

a C3Hg(g)+b 0,5(g) — d CO,(g)
+e H,0(l)

SWIe G qHHCT F a, b, d IRy

e A §

(1) 1,2,3,4

2) 1,4,3,2

3) 4,3,5,1

4) 1,5,3,4
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133.

134.

135.

136.

137.

[A]

How many ions are produced from the
complex [Co(NH 3 )6]C12 in solution ?
19 (2) 8
3) 3 “4) 2

A compound contains 4% hydrogen,
24% carbon and 71% chlorine. Its
molar mass 1s 99 g. Its molecular
formula is :

(1) CH,CI
(3) CoH,Cl,

(2) CyH,Cl,
(4) CH,Cl,

Two springs A and B (k4 =2kp) are
stretched by applying forces of equal
magnitudes at the four ends. If the
energy stored in A is E, that in B is :
(1) 4E (2) 2E

E
3) E 4 B}

A cricket ball of mass 150 g is moving
with a velocity of 12 m/s and is hit by
a bat so that the ball is turned back with
a velocity of 20 m/s. If duration of
contact between the ball and the bat is
0.01 sec. The impulse of the force is :

(1) 4.8 N-S (2) 74 N-S

(3) 1.2N-S (4) 4.7 N-S

a C3Hg(g)+Db 0,(g) > d CO,(8)
+e H,0(l)

For the above balanced equation a,
b, d and e are respectively :

(1) 1,2,3,4
(2) 1,4,3,2
(3) 4,3,5,1
4) 1,5,3,4

P.T.O.



[A]

138.

139.

140.

141.

142.

LCR uRug § C oiRar & GeniRa @l
5C g & g & T&a &, @
AR H oEi uRafdd e &
it wiRem & 79 L § fpa
R

L

(1) 5L @

L L

3) 2 “4) )
IR eI B ©

(1) He% 3N (3966 2M)

(2) AT W8l &N

(3) W[ 919 3}

(4) BIggT &1

frefafeg & @ fheer e spd
g7

(1) NHj
(3) XeF,

(2) SF,
(4) XeOF,

3) 9
(4) 99TTcHh AT RMHS 2l dehdl 8

R} T9 U9 99 W @d: ydikid ThH
EB[AG%:

(1) AG =0
(3) AG>0

(2) AG <0
4) AG =1
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138.

139.

140.

141.

142.

In a LCR circuit capacitance is
changed from C to 5C for the
resonant frequency to remain
unchanged, the inductance should be
changed from L to value :

(1) 5L 2)

“4)

NN L

L
3 1

Urea is excreted by :

(1) Frog (Adult)

(2) Star Fish

(3) Land snails

(4) Hydra

Which of the following has sp3d
hybridization ?
(1) NHj

(3) XeF,

(2) SF,
(4) XeOF,

A point charge ¢ is rotating along a
circle in the electric field generated
by another point charge Q. The
work done by the electric field on
the rotating charge in one complete
revolution is :

(1) ever positive

(2) ever negative

(3) zero

(4) may be positive or negative

AG for a spontaneous process at
constant pressure and temperature is :

(1) AG =0 (2) AG <0
(3) AG>0 4) AG =1



143.

144.

145.

146.

147.

ST AT 1 Gl A T BN 7

(1) oM — FART — m-IRoTTolo
- — W

(2) S — IFFAET — m-SAXoTToTo
— —

(3) iIM  — m-3XoTdolo

ST — AT — I

4) SN — IFgAE — IFgEART —
m-3RoTTolo — FEH

% f@ad ¥ a9 g% A, B &R C
T 0.2 A &, a9 I A i @l
T B

(1) 0.2 2) 0.6

3) 1 4 3

5 kg 5I9H H @ oS 1 m B &
IR 9 | TAE & AR 38 e
i e 300 TRt @ &, i S8t
U | e S |

(1) 100 w?> 2) 0

(3) 250> 4) 61>

Fefaeq 60 &b @& SIS
%G:IT[‘EIET-[ MUA-2-379 Taq Aewd
(152-&%%

(2) Fe-1-89

(3)%?

(4) 2239

frer 4 @ ®F-T1 NeRAeE B

% fovg § 9w 7 ®?

(1) StoTTolo F HfIUDHIOT BT
s § & 2

(2) &8 § B TEgoH K |
T Bl B

(3)_§§ﬁﬁﬁmaﬁmﬁwﬁq€ﬁ€f

ﬁ

|
@) 5™ § B FEEH Taadl q
e~ ARH I Fhd Bl
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143.

144.

145.

146.

147.

[A]

What will be the correct gene

expression pathway ?

(I) Gene — translation — m-RNA
— transcription — protein

(2) Gene — transcription — m-
RNA — translation — protein

(3) Gene — m-RNA — transcription
— translation — protein

(4) Gene — transcription —
translation — m-RNA — protein

A solution contains three components
A, B and C, 0.2 mole each, then sum
of their mole fractions is :

(1) 0.2 (2) 0.6

31 “4 3

A mass of 5 kg is moving along a
circular path of radius 1 m. If the
mass moves with 300 revolutions per
minute, its kinetic energy would be :

(1) 100 w2 2) 0
(3) 250> 4) 61>

Ozonolysis of which of the following
alkene gives propan-2-one and
methanal :

(1) 2-Methyl Propene

(2) But-1-ene

(3) Propene

(4) But -2-ene

Which of the following is not true

about prokaryotic cells ?

(1) Replication of DNA occurs in
cytoplasm.

(2) Some of them are capable of
nitrogen fixation.

(3) Plasmids do not occurs in
prokaryotic cell.
(4) Organic compounds can be

produced by some of them from
Inorganic precursors.

P.T.O.



[A]

148.

149.

150.

e gel & Brewr a9 T A S,
g § fha uRads @Fm =ifeu
e ¢ ® A H qRedd & @ ?

(1) e 37T & Sy
(2) & T [ & S
(3) & G & ST
(4) g N T B e

T Hla FeiEs & q9 54 X 10°Q
g uaed e 5% B HEd
iqRIES H 9o Y FAT B 7

(1) i, &1, A, gaed A
(2) &1, g, AR, gaed e
(3) e, gER, 9T, W

(4) <, G, TR, i Rt

g B Th B P TG FIA DA
a1 4 Wd g q T 8 &
TEaq Wfad @ SR ol W &l
ST &

(4) NEF=HT a1 ST & Hebel

[30]

148.

149.

150.

If the radius of the earth becomes
three times, then what should be the
change in density so that the value of
'g' does not change ?

(1) Density reduced to half
(2) Density becomes one third
(3) Density becomes double

(4) Density becomes three times

The value of carbon resistance is

54 % 10° Q. The percentage tolerance

1S 5%. What is the colour code

sequence of carbon resistance ?

(1) Yellow, Green, Orange, Golden
bands

(2) Green, Yellow, Orange, Golden
bands

(3) Blue,
bands

(4) Blue, Yellow, Orange, Silver
bands

Grey, Yellow, Silver

A metallic rod when placed in strong
magnetic field, aligns itself at right
angles to the magnetic field. The
nature of material is :

(1) Diamagnetic
(2) Paramagnetic
(3) Ferromagnetic

(4) Can be Ferromagnetic
Paramagnetic

or

Level-2/8111



FOR ROUGH WORK /Y% &4 & foru




U b SR, SR Uoh § uiRd @Ml @1 Pl il 6. Answers to questions in answer sheet are to be given by
wge 9 9 AT 2, orr T S fexamar w2 darkening complete circle using Black ball point pen as

shown below :

® ® @ O @ B ®
(SRRl

3Mq gINT_faar T IR e ST, I IR AT The answer will be treated wrong, if it is marked, as given below :
A BT P TPR A R E & g

i3 o | SUET WHl $ WR T & Al TSI AR Terd If you fill more than one circle it will be treated as a wrong
HET ST | answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. X% B ‘;I'S:I—gﬁfidvl H 39 waoN ® fog & TS @rell g W& BN | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bacl OMR TR T3d WR 8l 3ifdhd P | 30 IR LIHYdd 3Afhd B | IR G 2g 29d Joid (Ahe Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. UAE T & fore Ry T g Rwedt # 9 3Ifaa fawer & fow OMR STR 956 W &de Uh gd &I & T RE Blof ard

wEge U9 9 W | U6 IR SR Afhd F9 & 915 99 gl 78l ol AhdTl ¥ 1 (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gad o {6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M 7 M | 3pgedi 301 IghHld SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT Td IR TS BT SAFYED JANT By, Fifd & aRRefT # (se—gRaer wd SR v9@ & HAie 3 e
o1 Rafq &1 Breaw) E;\Hﬂ U Eﬁ?ﬁﬂ e SUALT T8l FHRATS SITgT | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

W—W/W CEC fev U HHIG BT et TE TN I sFER de H ford | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

ameﬁaﬁqﬁmgm/amﬁmwsﬁ?mﬁqaa§aﬁrﬁaﬁﬁﬂﬁwaﬁm |Jrl, gfad A1 sRforiad BrTSl Bl
Ufedf, SR, AaIgd WF, Sdgiie UG I B 3 UBR B GEEH DI of S AT STAN HRA DI AT T8I © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TIed gRT I8 oM W UAd gl 30T Y%l & (I o) 3R Ugamd U= =i | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT wded B A SH‘T% P 77 DI el QAT I 7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PIRIRT YAAETH BT YOI STR UAP (U a1 v BeeR a1 WR IIART SRIER by {41 angedl uller sfe el uisi | afe
PRl ongefl 7 g AR BRMER 91 W BWER T8l by 1 I8 AF1 oMQ b I SR UAG T8l Al § AR I8
JfAd | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat gmr 9 w19 & o &1 feme
wrrmméligwmﬁsmmwwmmmﬁwmﬁswﬁﬂﬁmmﬁammmhmaﬁ
AT T A g8d 8 g 7 8 §gd | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagih / BTalferd URded & SUANT affd 8 | (Use of Electronic/Manual Calculator is prohibited.)

e 8T § SR & oy, sngefi fGarfrer § & v uftar /Ry g ars & @ el v fafaEr o ey eam v |
g WREl & W AWl @ BEen dis & Ml Ud fafRmi & SR BN (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W w9
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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